
ALTERNATE 
MOUNTING

PLASTIC TUBE CAP

FOAM SEAL

SWIVELCABLE 
ASSEMBLY

CLAMP SADDLE

(2) 3/8-16 BOLTS
(2) WASHERS
(2) SPLIT LOCK WASHERS

(2) 5/16-18 U-BOLT
(2) U-BOLT SADDLE
(4) 5/16 HEX NUTS
(4) 5/16 SPLIT LOCK WASHERS

UPPER ARM

(2) 1/4-20 TRUSS 
HEAD SCREW

(2) ALUMINUM 
COVER PLATE 

LOWER ARM

ALUMINUM
POLE

(15) 5/16-18 HEX BOLTS

(15) 5/16 SPLIT LOCK 
WASHERS 

(5) ADAPTER RING
CAST 356 ALUMINUM

(5) MOUNTING RING
(SUPPLIED BY LIGHT 
HEAD MFR.)

(5) RUBBER SEAL

(1) 5/16-18 STUD 
(1) KEPS NUT
(1) UPPER RETAINING RING
(1) RUBBER SEAL

Form 1013-05

3M CLUSTER BRACKET  - CABLE STYLE

REV. 10/2013

TORQUE CHART
FASTENER SIZE TORQUE

5/16" 10 FT-LBS
3/8" 15 FT-LBS
1/2" 15 FT-LBS




	Sheet1
	Drawing View2
	Drawing View5

	Sheet2

